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CRIMINOLOGY
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

Who is the author of the book
‘Social Reality of Crime’ ?

(A) Erickson

(B) Sykes and Matuza
(C) William Chamblin
(D) Richard Quienney

Who among the following is credited
to have authored the concept ‘Crime
is a by-product of clan conflict’ ?

(A) Sutherland
(B) Karl Marx
(C) Recklers

(D) Lombroso

Who postulated the concept that
crime and delinquency are the
outcome of low ‘Intelligence
quotient’ ?

(A) Allport

(B) Eysenck

(C) Sigmund Freud
(D) Spinner

In relation to criminal tendency/
behaviour, who first dealt with the
concept of ‘superiority complex’ ?

(A) Griffin
(B) Bandura
(C) Maslow
(D) Carl Jung

Which Committee looked into the
problems of female prisoners in
India ?

(A) The Kapoor Committee
(B) Justice Mulla Committee
(C) The Recklers Committee

(D) Justice Krishna Iyer Committee

In India, ‘History Ticket’ is related
to

(A) Correction

(B) Justice

(C) Prison

(D) None of the above

Which one of the following must be
present in a crime ?

(A) Opportunity and circumstances
(B) Provocation
(C) Anincident

(D) Criminal intent

Who can authorise arrest verbally ?
(A) Police officer

(B) An officer-in-charge of police
station

(C) A Magistrate
(D) None of these
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10.

11.

12.

Parole is best defined as

(A) Conditional suspension of
imposition of sentence.

(B) The release of offender from
penal institution under the
control of correctional
authorities.

(C) The release of offender
without any condition.

(D) None of these

‘Solatium Fund Scheme’ for the

compensation to victims was

instituted under which Act ?

(A) Indian Railway Act, 1988

(B) Motor Vehicle Act, 1988

(C) Workmen’s Compensation
Act, 1923

(D) The Protection of Human
Rights Act, 1993

‘Victim precipitation theory’ was
propounded by

(A) Wolfgang

(B) Benjamin Mendelsohn

(C) Cohen

(D) Mastin

Match the following List — I with
List—1I:

List-1 List — 11
(a) Corporal (i) Inflicted upon
Punishment human body
(b) Poetic (i) Monetary loss
punishment
(c) Financial  (iii) Bodily
punishment punishment
according to
crime
(d) Social (iv) Social
punishment stigmatisation
Codes :

(@ () (o) (@
A) @ @G G 3@v)
B) @ (> (i) @)
©) Gy @Gi) @Gv) (1)
D) @) @Gv) () (@)

13. Match the following List — I with

14.

List—1I:
List -1

(a) Punishment is
an end itself.

(b) Punishment as
a means to
achieve
certain ends

(c¢) Punishment as
a measure to
reclaim the
offender

(d) Punishment is
to harass and
penalise  the
wrong doer

Codes :

(@ (b)) (©
(i) (iii)
(i) (i) (iv)

A) @Gv) (@)
B) O

List — II

(i) Prevention

(i1) Reformation

(ii1) Deterrence

(iv) Retribution

(d)

€ Gy @Gi) Gv) (@)

(D) (i) @Gv) (i)

®

Assertion (A) : One of the oldest
forms of organised crimes is
procurement of women and
girls for prostitution.

Reason (R) : Trafficking in women
and girls for the purpose of
sexual abuse is a form of
organised crime.

(A) (A)is true, but (R) is false.
(B) (A)is false, but (R) is true.
(C) Both (A) and (R) are true.
(D) Both (A) & (R) are false.
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15.

16.

17.

Assertion (A) : Cressey developed a
theory to explain violations of
financial trust.

Reason (R) : His theory involved
learning behaviour and he
explained that crime is learnt
from others through the
process of learning.

(A) (A) and (R) are correct.
(B) Both (A) and (R) are wrong.

(C) (A) is correct, but (R) is
wrong.

(D) (A)is wrong, but (R) is right.

Assertion (A) : The Juvenile Justice
Act of 2000 aims at the
welfare of the children and
protects their rights.

Reason (R) : Children are protected
by this law as they are the
future wealth of the country.

(A) (A)is false, but (R) is true.
(B) Both (A) and (R) are true.

(C) (A)is true, but (R) is false.
(D) Both (A) and (R) are false.

Assertion (A) : Parole is a form of

conditional release from a
penal or correctional
institution.

Reason (R) Parole plays an

important role in maintaining
the bond between the prisoner
and his family and community.

(A) (A)is true, but (R) is false.
(B) Both (A) and (R) are true.
(C) (A)is wrong but (R) is true.
(D) Both (A) and (R) are wrong.

Paper-11

18.

19.

Assertion (A) : In criminological
research, variable is a
parameter, whose values differ
from situation to situation.

Reason (R) : Variables are the
building blocks of empirical
research in criminology. It
includes such things as number
of crimes, age, sex of offender/
victim, how people perceive

crime, etc.

(A) (A) is correct, but (R) is
wrong.

(B) (A) is wrong, but (R) is
correct.

(C) Both (A) and (R) are correct.
(D) Both (A) and (R) are wrong.

Match the items in List — I with
items in List —II :
List -1

(a) Forcible
taking away
of some one’s

List — IT

(i) Corruption

property

(b) Unauthorised (ii) Embezzle-
transportation ment
of opium

(c) Misappropria- (iii) Robbery

tion of public

funds

(d) Misuse of (iv) Smuggling
official position

Codes :

(@ () () (@

(A) @) @(v) @) @

B) @ G 3>) (@Gv)

(©) Gv) i) () @

(D) @) (i) @) (@v)
D-68-10
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20.

21.

22.

23.

Social workers are appointed as
members of the Child Welfare
Committees.

(A) True

(B) False

(C) May be true
(D) May be false

Neglecting a child is also a form of
child abuse, under  Juvenile
legislation.

(A) True

(B) False

(C) May be true
(D) May be false

Play therapy is generally employed
with children in the ages of 3 to 11.

(A) True

(B) False

(C) May be true
(D) May be false

The UN Resolution dealing with the
maintenance and treatment of jail
inmates is called

(A) UN Declaration of Human
Rights

(B) UN Standard Minimum Rules
for Treatment of prisoners

(C) UN Child Rights Convention

(D) UN Covenant on the Elimination
of all Discrimination against
Women

24.

25.

26.

27.

28.

‘Red-light Area’ refers to an
(A) area that sells alcohol
(B) area selling drugs

(C) area for prostitution

(D) area for conflict

What is the proportion of women as
crime victim in India ?

(A) Less than 20%
(B) Less than 40%
(C) Less than 60%
(D) Less than 80%

Child trafficking means transporting
a child from

(A) one country to another
(B) one district to another
(C) one State to another
(D) All of the above

Domestic violence includes
(A) elderly abuse

(B) child abuse

(C) spouse abuse

(D) All of the above

Honour killing takes place when an
affair (or) marriage takes place
between a boy and a girl coming
from

(A) different religious groups
(B) different caste groups
(C) the same gotra

(D) All of the above
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29.

30.

31.

Crime statistics reflect the social
health of a country.

(A) True

(B) False

(C) May be true
(D) May be false

Arrange the following theories of
crime, in the order in which they
evolved in history. Use the codes
given below :

L Classical school

II.  Demonological thoughts
III.  Positive school

IV. Sociological school
Codes :

(A) NILIL IV, I

(B) LILII IV

©) ILLIIV

(D) 1V, LIL I

In drug habit, arrange the stages an
addict goes through, using the codes
given below :

L Habitual stage

II.  Experimental stage
III. Regular stage

IV. Casual stage
Codes :

(A ILIV, I I

(B) LOLIv, I

©) IL LIV, I

(D) IV, IOLILI

32.

33.

34.

The stages involved in awarding
death penalty, in India, are given
below. Sequence it as they happen.
Use the code given below :

L Appeal to High Court

II.  Session Court

III.  Appeal to Supreme Court

IV. Mercy Petition to President
Codes :

(A) 1L L1, IV

(B) IV,ILIL IO

(© LIL I, IV

(b) HOLILILIV

The steps involved in criminological
research is given below. Indicate the
correct sequence by using the code
provided.

L Analysis

II.  Data Collection

III. Research Design

IV. Report-writing

Codes :

(A) HOLILILIV

(B) HOLILIV,I

©) IL LIV, I

(D) LILIV, IO

The stages of a criminal case is
given below. Indicate the correct
sequence by using the codes :

L Charge Sheet

II.  Arrest

III.  First Information Report

IV. Search

Codes :

(A) IV, IOLILI

(B) HOLILIV,I

©) IV,ILLI

(D) IV,LIL I
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3s.

36.

37.

38.

The classical school is associated
with

(A) Lombroso
(B) Beccaria
(C) Ferri

(D) Sutherland

Karl Marx argued that society was
most influenced by

(A) Gender inequality

(B) Socio-economic classes
(C) Religion

(D) Family

The idea that crime would be
controlled if society could design
punishment to fit the crime. Which
school of thought is based on this
assertion ?

(A) Positive school
(B) Classical school
(C) Statistical school

(D) Contract theory

Cultural Conflict Theory is criticised
for

(A) overemphasizing gender

conflict
(B) overemphasising class conflict
(C) ignoring ethnic differences

(D) assuming consensus

39.

40.

41.

42,

When criminologists find two
phenomena together, they call it

(A) Causation
(B) Variation
(C) Correlation

(D) Association

In India, the oldest
legislation enacted in 1850 was

juvenile

(A) The Children Act
(B) The Apprentices Act
(C) Juvenile Justice Act

(D) The Borstal Schools Act

The cases of children in need of care
and protection are dealt by

(A) Juvenile Court
(B) Juvenile Justice Board
(C) Judicial Magistrate

(D) Child Welfare Committee

Whoever
property from any person without

takes any movable

that person’s consent and moves that
property, is said to commit

(A) Hurt

(B) Grievous hurt

(C) Theft

(D) Dacoity



35.

36.

37.

38.

FeAITh bt Tohed eIt & 2
(A) At

(B) SR

(C) w

(D) WS

I AT i gfad ot Toh ToTsT wataeh
et g &

(A) AfiTeR ST
(B) HTSI-IMI &
(C) =

(D) uRaRr

7 foar T 3ty =i Faf=a fwar s
g ST STORTY o STEY FUE i I
HAT T | — T SFTUROT WY & ohg
foremR-TaRE 9 gt € ?

(A) TS TR IoRE 9
(B) SFATgehet foam awRmE 9

s n o

(C) wifeent foaR TuET 4

(D) FFE (ST 9o 9

Giepids duy g @ et
THTTT Y ST &

(A) TEH Wil Go9 W 3 5o 5o
TE |

(B) = GEY W ek 97 fgan T € |

(C) ST 3TeRT bl 3TN AT |

(D) TEHd ol 7 T T |

39.

40.

41.

42.

STa STIRTY-TaSH I AT Bt gehgl Ut
g, aasaHed e

(A) SRUTEE
(B)
©C) IN-g=y
(D) wETd

IRA H a9 R ReR A=
1850 & ST 7T, IE T

(A) foegdwRe

(B) uwieraw uwe
(C)  SiferTEe Siftew Tae
(D) Siieet Thed T3

T 9 Hergd fawg, e 52 @y
R TR H AEEIRAT Bl §, S
o2 ST 8

(A) TFoIR =™ 51

(B) ook =Ima 1€ gRT

(C) —nfae BV 51T

(D) STeT ™o WHTT R

STe g AT TRl TR =Afad hr ferdt
A TR T SHD! TEHT o o7 oIl §
3R TIFIARA YT &, o T8 ST hel
Sinik

(A) &fa
(B) TR &
(C) =R
(D) Sohd



43. Which one of the following is Read the paragraph given below and

correctly matched ? answer the questions from 47 to 50 :
(A) Rightto . Fundamental A hacker has put 1.5 million stolen
Life Right ‘face book’ accounts up for sale in the
black ket. The hack t the ‘log in’
(B) Positive : Beccaria ac‘ farke e' acker Pu ‘e og' 0
School details on a Russian website with prices
choo starting from $ 25.
(C) Dowry : Commercial sex
D) Imm(?ral : Special homes 47, “Face book’ is a
Traffic
Prevention (A) Cyber crime
Act (B) Social networking site
(C) Computer-virus
44. Which one of the following is (D) Hacking

correctly matched ?

A) I : Rule of L.
(A) Inter Caste ule of Law 48. A hacker is a

Tension
(B) Mala : Crime by itself (A) Blog
Prohibita (B)  Computer
(C) Sampling : Probability (C) Website
(D) Terrorism : Women Crime (D) Cyber criminal
45. Without law there is no crime. 49. Is hacking mainly a problem for
(A) True (A) Corporate Secrecy
(B) False (B) Financial Institution
(C) May be true (C) Military Plans
(D) May be false (D) All of the above
46. ‘Melain se’ means 50. The hacker has
(A) Insistent wrong (A) American origin
(B) Inherent wrong (B) Russian origin
(C) Immediate wrong (C) German origin
(D) Indebted wrong (D) Not known




43.

44.

45.

46.

ffofad & & % a1 98t ®9 5 gofea
g7

(A) STH @ ;oA ATHER
PR

(B) difstfea koo
ot

(C) =& . AN W

(D) e™fd® : fafre 78
MR Ry
SCIEpE)

ffefad o & %= a1 98t ®7 5 gofea

g7

(A) IR hT <hT T5Y
e

(B) T W . WEH AW
(C) feeF
(D) 3ATchaTs

. GYqTEdn

: Tl-3TYg

A A & TR Y T Aefed el € |
(A) W@

(B) Tord

(C) W EHAE |

(D) AT & FHATE |

AT T & T A&

(A) 9UE AUhd
(B) 3T=tfed STdd
(C) dThITeTeh 3195

(D) HAA IR

TR RIS Sl &I 9 ufeu 3 uvT 47 9
50 T IR ST

T R A 1.5 Tofera =t o178 &8 hg

TH % @l H FHON IR H (a6 & folw
TG | g - T A2 W AN 37 o [
o, e Mg FA F fw X $ 25 9
TRE et off |

47.

48.

49.

50.

g TH &

(A) 9TEeR TR

(B) WTITICT AeafhT ATee
(C) FFR-ATE

(D) &fRm

THROBAME
(A) AT

(B) =X

(C) d=dmEe

(D) HTEER STORTE

St e foaeh fote wme & 2
(A) N T

(B) forcita et

(C) T IS

(D) Ier T & ferg

THME §o o ot T & 2
(A) mERE

(B) &

(C) St

(D) ¥ &
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